Find the value of x

S = 150062
= /740
X+ 120+50 138 F DS+ =700
X + S70=720
X =/50

S =) 80(n —2}

S—— /80(1«\-25
= /8048-%
= [0%0
(080

X = 8

=155

A 762
52°

. y
GotSL F7L 4904+ =w
Y+ 508 = 3o

X = &



Find the value of x

A

S= IQDCV\'%
%:/s-oc's'—z_\ W+ 70+50+ 72+ 353
= Yo X425 =200

SUD = @S +5 +x+120 Hoo X =95

S Yo = % +Yvo0
X =190

Bl

= &00



8. If the sum of the interior angles of a palygon is
5040°, then the polygon has how many sides?

.S = /90 Cn—z}
S OHo = 1¥00n-)

/60 /&0

29 = M-

yz ¥

v 50



9. The measure of each interior angle of a
regular polygon is 144°. How many sides
does the polygen have?

TH{ICVI'O,O“ L E)('bt:r:ar Z.
/SDCM—E)> YLy "
" <'—v\—" (1499
]V (n-2) =194 n 3:3(:-’9: /0
[80n -l = [
—3bo = =Dl

n=10



12. Find the value of x.
[Ax ¥ /15 =30

21'\ 2ax = D95
¥ = Q‘L'?S’

<
2x + 20




15. A convex heptagon has interior angles o

that measure 120°, 115°, 135°, 95°, 155°, s
and 125°. What is the measure of the |55
seventh interior angle? fi s
5= /30(‘1—2\
- qu0

Gov = X+ 7495
X=/55



The figures in Problems 1 and 2 are kites. Find x and y for each.

' 15) 2671 =>>¢t°e
1. 2. 57 X
¥ = (RN




6. Find the perimeter of kite KITE.
[T = TT+TE+ RE+ 1T
T

ST+ B A1

"..'_‘S'D



9. If the perimeter of kite ABCD = 86 feet, find x and y.

EX-1S5 = 2xry SV yt2y-212y-2 vl
2 Yx—IisT= S fOx/-(—zs.fsb
» >y 3% =18
Ov =
X=0 l6y = 40

Y =4




This 1s an
Xx= =

/A= LO°/B= |30 /C= 128




c)

45 ft

68 ft

X

(o) (B

h""d‘;“p\‘q&n‘&' =
Find the missing measure (median is the middle support) of the trusses shown below.
a) b)

40 ft X w—

X 20 ft —

x= SO X= )
¥ = Y 9\0 2 ( 'g\(% ( = )¢
Yv=xX312¥

YRS

}5[,—_ X +4YS

X =4l

2z



Find the value of x
Yx-2 + Ix-2+7x+>

Exsz=
a) 4x-2 7—@% Z) C}H—\B
JOX+Y = l1x ¥ (
L= X+ |

xX=>
Tx+3






